Gainesville-RTS Passenger Productivity by Month and Fiscal Year

	FY	2025					FY	2024		
Month	ly Passenger Pro	ductivity Report	Summary		Month	ly Pass	enger Pro	ductivity Repo	ort S	Summary
Month	Passenger Trips	Revenue Hours	FY25 Pass./Hr		Month	Passer	nger Trips	Revenue Hour	rs I	FY24 Pass./Hr
October	619,452	22,726	27.3]	October		645,330	23,36	60	27.6
November	472,401	17,993	26.3	1	November		506,833	21,06	69	24.1
December				1	December		288,395	17,91	15	16.1
January]	January		539,347	22,33	35	24.1
February				I	February		590,705	22,18	86	26.6
March]	March		466,215	20,53	32	22.7
April					April		551,593	23,16	63	23.8
May					May		295,471	19,02	28	15.5
June					June		235,806	15,86	65	14.9
July					July		287,805	18,71	18	15.4
August					August		454,435	19,96	61	22.8
September					September		619,968	19,83	37	31.3
FY 25 YTD	1,091,853	40,718	26.8		FY 24 YTD		1,152,163	44,42	29	27.6
YTD Δ%	-5.2%	-8.4%	-2.9%		YTD Δ%		7.3%	-3	8.0%	10.79
		Systemwide Pa	EFY24 Pas		PY25 Pass./F		iscal Year			
		L	=r124 Fd5	5./ПІ	= F123 Fass./F	11				
40.0										
										31.3
30.0	27.6 <u>27.3</u> 26.3 24.1	24.1	26.6		23.8					
Ŧ	24.1			22.7	23.8			22.	.8	
Pass/Hr 20.0		16.1				15.5	14.9	15.4	-	
Ľ.										
10.0						-		_	-	
		_								
	October Novembe	r December Janu	ary February	March	April	May	June	July Au	igust	September

Note: Octuber 9th and 10th, 2024 Hurricane Milton. October 18th, Homecoming parade.

November 2024: No Service on Thanksgiving day and Black Friday. Reduced service from UF service Nov 23rd- Nov 27th, 2024.

Reviewed by:_____ Date:_____

Reviewed by:_____ Date:_____

Fiscal Year'25 Ridership by Route

October 1, 2024 to September 30, 2025

				Ĺ	October 1, 2024 to	o September 30,	2025						I	
		October	November	December	January	February	March	April	Мау	June	July	August	September	FY TOTAL
Route	City Routes	Passengers	Passengers	Passengers	Passengers	Passengers	Passengers	Passengers	Passengers	Passengers	Passengers	Passengers	Passengers	FY'25 Pass.
1	Downtown Station to Butler Plaza	32,877	26,766											59,643
3	Downtown Station to N Main Post Office	7,974	6,863											14,837
5	Downtown Station to Oaks Mall	25,365	19,620											44,985
6	Downtown Station to Plaza Verde	6,746	5,723											12,469
7	Downtown Station to Eastwood Meadows	8,490	6,923											15,413
8	Shands to North Walmart Supercenter	15,064	12,317											27,381
9	Reitz Union to Hunters Run	24,675	17,553											42,228
10	Downtown Station to Santa Fe	13,084	10,109											23,193
11	Downtown Station to Eastwood Meadows	9,935	7,658											17,593
12	Reitz Union to Butler Plaza	36,867	28,897											65,764
13	Beaty Towers to CareerSource	25,991	19,444											45,435
	Downtown Station to NW 13th St (@ NW 23rd Ave)	24,039	20,332											44,371
16	Beaty Towers to Sugar Hill	9,291	7,323											16,614
17	Beaty Towers to Downtown Station	6,501	5,130											11,631
20	Reitz Union to Oaks Mall	51,621	36,027											87,648
21	Reitz Union to Cabana Beach	15,491	12,449											27,940
23	Oaks Mall to Santa Fe	6,848	5,497											12,345
25	UF Commuter Lot to Airport	6,840	5,759											12,599
26	Downtown Station to Airport	9,788	8,556											18,344
28	The Hub to Forest Park	7,230	4,950											12,180
33	Butler Plaza to Midtown	45,025	32,933											77,958
34	The HUB to Lexington Crossing	4,475	3,316											7,791
35	Reitz Union to SW 35th Place	37,288	27,807											65,095
37	Reitz Union to Butler Plaza (via SW 35th Place)	20,553	15,296											35,849
38	The Hub to Gainesville Place	48,641	35,486											84,127
43	Shands to Santa Fe	8,953	6,416											15,369
46	Reitz Union to Downtown Station	4,836	3,315											8,151
52		4,565	3,537											8,102
75	Oaks Mall to Butler Plaza	15,660	13,570											29,230
76	Santa Fe to Haile Square Market	3,605	2,917											6,522
78	Butler Plaza to Santa Fe	1,590	1,301											2,891
	Downtown to E. Meadows	2,986	2,658											5,644
600	Microtransit E. University Avenue	867	736											1,603
	City totals	543,761	417,184	-	-	-	-	-	-	-	-	-	-	960,945
Route	Campus Routes	Passengers	Passengers	Passengers	Passengers	Passengers	Passengers	Passengers	Passengers	Passengers	Passengers	Passengers	Passengers	FY'25 Pass.
	Park-N-Ride 1 (Cultural Plaza)	37,052												62,919
	UF North/South Circulator	7,153	5,515						1					12,668
125	Lakeside	13,693	11,650											25,343
	UF East/West Circulator	5,134	2,463											7,597
	East Circulator (Sorority Row)	11,074	8,275						1					19,349
	UF Campus - Haile Plantation	1,585	1,447										<u> </u>	3,032
	Campus totals	75,691	55,217	-	-	-	-	-	-	-	_	-	-	130,908
		,				l	l		I				I	
	Other Services Totals	6,805	8,005		-	-			-					14,810
	Systemwide Totals	626,257	480,406			-	1		1		-		_	1,106,663

Indicates route not in operation

Route	City	Passengers	Hours	Pass./Hr	FY 2025 Pass.	FY 2025 Hours	FY 2025 Pass./Hr
1	Downtown Station to Butler Plaza	26,766	911.0	29.4	59,643	2,012	29.6
3	Downtown Station to N Main Post Office	6,863	304.9	22.5	14,837	669	22.2
5	Downtown Station to Oaks Mall	19,620	1006.7	19.5	44,985	2,232	20.2
6	Downtown Station to Plaza Verde	5,723	271.8	21.1	12,469	609	20.5
7	Downtown Station to Eastwood Meadows	6,923	248.9	27.8	15,413	567	27.2
8	Shands to North Walmart Supercenter	12,317	643.8	19.1	27,381	1,429	19.2
9	Reitz Union to Hunters Run	17,553	681.5	25.8	42,228	1,581	26.7
10	Downtown Station to Santa Fe	10,109	458.1	22.1	23,193	1,000	23.2
11	Downtown Station to Eastwood Meadows	7,658	257.9	29.7	17,593	588	29.9
12	Reitz Union to Butler Plaza	28,897	1081.4	26.7	65,764	2,418	27.2
13	Beaty Towers to CareerSource	19,444	484.1	40.2	45,435	1,099	41.4
15	Downtown Station to NW 13th St (@ NW 23rd Ave)	20,332	602.7	33.7	44,371	1,337	33.2
16	Beaty Towers to Sugar Hill	7,323	346.5	21.1	16,614	771	21.5
17	Beaty Towers to Downtown Station	5,130	232.6	22.1	11,631	530	22.0
20	Reitz Union to Oaks Mall	36,027	1017.5	35.4	87,648	2,332	37.6
21	Reitz Union to Cabana Beach	12,449	470.4	26.5	27,940	1,085	25.7
23	Oaks Mall to Santa Fe	5,497	429.7	12.8	12,345	953	13.0
25	UF Commuter Lot to Airport	5,759	264.9	21.7	12,599	573	22.0
26	Downtown Station to Airport	8,556	250.6	34.1	18,344	571	32.1
28	The Hub to Forest Park	4,950	253.0	19.6	12,180	610	20.0
33	Butler Plaza to Midtown	32,933	927.1	35.5	77,958	2,148	36.3
34	The HUB to Lexington Crossing	3,316	292.1	11.4	7,791	665	11.7
35	Reitz Union to SW 35th Place	27,807	956.1	29.1	65,095	2,174	29.9
37	Reitz Union to Butler Plaza (via SW 35th Place)	15,296	515.4	29.7	35,849	1,162	30.8
38	The Hub to Gainesville Place	35,486	843.5	42.1	84,127	1,918	43.9
43	Shands to Santa Fe	6,416	454.7	14.1	15,369	1,034	14.9
46	Reitz Union to Downtown Station	3,315	148.8	22.3	8,151	347	23.5
52	UF Health to Jonesville	3,537	355.7	9.9	8,102	810	10.0
75	Oaks Mall to Butler Plaza	13,570	806.2	16.8	29,230	1,795	16.3
76	Santa Fe to Haile Square Market	2,917	152.5	19.1	6,522	332	19.7
78	Butler Plaza to Santa Fe	1,301	150.6	8.6	2,891	329	8.8
711	Downtown to E. Meadows	2,658	150.7	17.6	5,644	303	18.6
600	Microtransit E. University Avenue	736	157.1	4.7	1,603	367	4.4
	City totals	417,184	16,129	25.9	960,945	36,351	26.4

Gainesville-RTS Passenger Productivity by Month and Fiscal Year Monthly Passenger Productivity Report (NOVEMBER 2024)

Route	Campus	Passengers	Hours	Pass./Hr	FY 2025 Pass.	FY 2025 Hours	FY 2025 Pass./Hr
118	Park-N-Ride 1 (Cultural Plaza)	25,867	558.8	46.3	62,919	1,331	47.3
122	UF North/South Circulator	5,515	289.7	19.0	12,668	658	19.2
125	Lakeside	11,650	301.3	38.7	25,343	691	36.7
126	UF East/West Circulator	2,463	137.4	17.9	7,597	352	21.6
127	East Circulator (Sorority Row)	8,275	329.3	25.1	19,349	758	25.5
150	UF Campus - Haile Plantation	1,447	247.5	5.8	3,032	578	5.3
	Campus totals	55,217	1,864	29.6	130,908	4,367	30.0

Route	Other Services	Passengers	Hours	Pass./Hr	FY 2024 Pass.	FY 2024 Hours	FY 2024 Pass./Hr
99	Special Services				-	-	
198-250	Gator Aider	8,005			14,810	-	
	Other Services Totals	8,005	-		8,005	-	-
	Systemwide Totals	480,406	17,993	26.7	1,099,858	40,718	27.0

FY'25 NOVEMBER 2024

Ridership Reports

Gainesville-RTS Passenger Productivity by Month and Fiscal Year Monthly Passenger Productivity Report (NOVEMBER 2024)

Year Comparisons	City	%Change	Campus	%Change	Total	%Change
Nov-19	698,641	-100.0%	134,895	-100.0%	1,124,405	-100.0%
Nov-20	164,953	-100.0%	6,887	-100.0%	217,805	-100.0%
Nov-21	342,427	-100.0%	45,115	-100.0%	477,419	-100.0%
Nov-22	391,828	-100.0%	49,926	-100.0%	569,227	-100.0%
Nov-23	442,768	-5.8%	64,065	-13.8%	506,833	-6.8%
Nov-24	417,184	NA	55,217	NA	472,401	NA
Year to Date Comparisons	City	%Change	Campus	%Change	Total	%Change
FY2020	1,639,514	-41.4%	331,896	-83.4%	1,971,410	-48.5%
FY2021	375,719	155.8%	16,779	229.1%	392,498	158.9%
FY2022	757,335	26.9%	107,626	-48.7%	864,961	17.5%
FY2023	889,734	8.0%	121,247	-54.5%	1,010,981	0.5%
FY2024	1,003,223	-4.2%	148,940	-62.9%	1,152,163	-11.8%
FY2025	960,945	NA	55,217	NA	1,016,162	NA

Service	Rev. Days	Passengers
Weekdays	15	411,004
Reduced Service Days	3	26,337
Saturdays	5	32,572
Sundays	4	10,493

Average Day by ServicePassengers (Avg)Average Weekday Ridership27,400Average Reduced Service Ridership8,779Average Saturday Ridership6,514Average Sunday Ridership2,623

480,406

COVID-19

Gainesville-RTS Passenger Productivity by Month and Fiscal Year Monthly Passenger Productivity Report (NOVEMBER 2024) (WEEKDAYS SERVICE)

Route	City	Passengers	Hours	Pass./Hr	FY 2025 Pass.	FY 2025 Hours	FY 2025 Pass./Hr
1	Downtown Station to Butler Plaza	22,832	754	30.3	50,873	1,724	29.5
3	Downtown Station to N Main Post Office	5,886	305	19.3	12,943	669	19.4
5	Downtown Station to Oaks Mall	17,171	842	20.4	39,741	1,930	20.6
6	Downtown Station to Plaza Verde	5,325	251	21.3	11,686	571	20.5
7	Downtown Station to Eastwood Meadows	6,923	249	27.8	15,413	567	27.2
8	Shands to North Walmart Supercenter	11,150	553	20.2	24,877	1,260	19.7
9	Reitz Union to Hunters Run	17,553	682	25.8	42,228	1,581	26.7
10	Downtown Station to Santa Fe	9,682	429	22.6	22,233	947	23.5
11	Downtown Station to Eastwood Meadows	7,658	258	29.7	17,593	588	29.9
12	Reitz Union to Butler Plaza	24,606	937	26.3	56,455	2,151	26.2
13	Beaty Towers to CareerSource	18,873	441	42.8	44,121	1,017	43.4
15	Downtown Station to NW 13th St (@ NW 23rd Ave)	17,147	517	33.2	37,554	1,177	31.9
16	Beaty Towers to Sugar Hill	6,755	302	22.4	15,332	688	22.3
17	Beaty Towers to Downtown Station	5,130	233	22.1	11,631	530	22.0
20	Reitz Union to Oaks Mall	32,696	871	37.5	79,412	2,063	38.5
21	Reitz Union to Cabana Beach	12,449	470	26.5	27,940	1,085	25.7
23	Oaks Mall to Santa Fe	5,497	430	12.8	12,345	953	13.0
25	UF Commuter Lot to Airport	4,366	191	22.9	9,400	435	21.6
26	Downtown Station to Airport	8,556	251	34.1	18,344	571	32.1
28	The Hub to Forest Park	4,950	253	19.6	12,180	610	20.0
33	Butler Plaza to Midtown	30,950	792	39.1	72,805	1,899	38.3
34	The HUB to Lexington Crossing	3,316	292	11.4	7,791	665	11.7
35	Reitz Union to SW 35th Place	26,022	864	30.1	61,027	2,003	30.5
37	Reitz Union to Butler Plaza (via SW 35th Place)	12,363	426	29.0	28,661	995	28.8
38	The Hub to Gainesville Place	35,486	843	42.1	84,127	1,918	43.9
43	Shands to Santa Fe	6,416	455	14.1	15,369	1,034	14.9
46	Reitz Union to Downtown Station	3,315	149	22.3	8,151	347	23.5
52		3,537	356	9.9	8,102	810	10.0
75	Oaks Mall to Butler Plaza	11,809	706	16.7	25,633	1,608	15.9
76	Santa Fe to Haile Square Market	2,917	152	19.1	6,522	332	19.7
78	Butler Plaza to Santa Fe	1,301	151	8.6	2,891	329	8.8
711	Downtown to E. Meadows	533	54	9.9	1,041	122	8.5
600	Microtransit E. University Avenue	736	157	4.7	1,603	367	4.4
	City totals	383,906	14,614	26.3	886,024	33,544	26.4

Route	Campus	Passengers	Hours	Pass./Hr	FY 2025 Pass.	FY 2025Hours	FY 2025Pass./Hr
118	Park-N-Ride 1 (Cultural Plaza)	25,867	559	46.3	62,919	1,331	47.3
122	UF North/South Circulator	5,515	290	19.0	12,668	658	19.2
125	Lakeside	11,650	301	38.7	25,343	691	36.7
126	UF East/West Circulator	1,699	60	28.1	4,808	182	26.5
127	East Circulator (Sorority Row)	8,275	329	25.1	19,349	758	25.5
150	UF Campus - Haile Plantation	1,447	248	5.8	3,032	578	5.3
	Campus totals	54,453	1,787	30.5	128,119	4,197	30.5

Route	Other Services	Passengers	Hours	Pass./Hr	FY 2025 Pass.	FY 2025Hours	FY 2025Pass./Hr
99	Special Services	-		-	-	-	-
198-250	Gator Aider	-		-	-	-	-
	Other Services Totals	-	-		-	-	-
	Systemwide Totals	438,359	16,401	26.7	1,014,143	37,741	26.9

Indicates route not in operation

FY'25 NOVEMBER 2024

Ridership Reports

Gainesville-RTS Passenger Productivity by Month and Fiscal Year Monthly Passenger Productivity Report (OCTOBER 2024) (SATURDAY SERVICE)

Route	City	Passengers	Hours	Pass./Hr	FY 2025 Pass.	FY 2025 Hours	FY 2025 Pass./Hr
1	Downtown Station to Butler Plaza	2,908	124.9	23.3	6,140	225	27.3
3	Downtown Station to N Main Street Post Office	977	54.4	18.0	1,894	98	19.4
5	Downtown Station to Oaks Mall	1,675	133.2	12.6	3,499	240	14.6
6	Downtown Station to Plaza Verde	398	21.3	18.7	783	38	20.5
8	Shands to North Walmart Supercenter	787	59.2	13.3	1,660	106	15.6
10	Downtown Station to Santa Fe	427	29.6	14.4	960	53	18.0
12	Reitz Union to Butler Plaza	3,352	111.5	30.1	7,271	201	36.2
13	Beaty Towers to CareerSource	422	28.3	14.9	931	51	18.3
15	Downtown Station to NW 13th St (@ NW 23rd Ave)	2,271	54.4	41.8	4,620	98	47.2
16	Beaty Towers to Sugar Hill	396	28.7	13.8	877	52	17.0
20	Reitz Union to Oaks Mall	2,489	114.2	21.8	5,988	206	29.1
25	UF Commuter Lot to Airport	788	46.7	16.9	1,686	84	20.1
33	Butler Plaza to Midtown	1,467	102.0	14.4	3,713	184	20.2
35	Reitz Union to SW 35th Place	1,413	62.1	22.8	2,947	112	26.4
37	Reitz Union to Butler Plaza (via SW 35th Place)	1,820	57.9	31.5	4,166	104	40.0
75	Oaks Mall to Butler Plaza	1,218	69.2	17.6	2,433	124	19.5
711	Downtown to E. Meadows	1,367	65.8	20.8	2,889	118	24.4
	City totals	24,175	1,163	20.8	52,457	2,093	25.1
Route	Campus	Passengers	Hours	Pass./Hr	FY 2025 Pass.	FY 2025Hours	FY 2025Pass./Hr
126	UF East/West Circulator	392	47.8	8.2	1,315	112	11.8
	Campus totals	392	48	8.2	1,315	112	11.8
Route	Other Services	Passengers	Hours	Pass./Hr	FY 2025 Pass.	FY 2025Hours	FY 2025Pass./Hr
99	Special Services			-	-	-	-
198-250	Gator Aider	8,005		-	14,810	-	-
	Other Services Totals	8,005	-		14,810	-	-
	Systemwide Totals	32,572	1,211	26.9	68,582	2,205	31.1

FY'25 NOVEMBER 2024

Ridership Reports

Gainesville-RTS Passenger Productivity by Month and Fiscal Year Monthly Passenger Productivity Report (NOVEMBER 2024) (SUNDAY SERVICE)

Route	City	Passengers	Hours	Pass./Hr	FY 2025 Pass.	FY 2025 Hours	FY 2025 Pass./Hr
1	Downtown Station to Butler Plaza	1,026	31.7	32.4	2,630	63	41.5
5	Downtown Station to Oaks Mall	774	31.5	24.6	1,745	63	27.7
8	Shands to North Walmart Supercenter	380	31.3	12.1	844	63	13.5
12	Reitz Union to Butler Plaza	939	33.1	28.4	2,038	66	30.8
13	Beaty Towers to CareerSource	149	15.2	9.8	383	30	12.6
15	Downtown Station to NW 13th St (@ NW 23rd Ave)	914	31.5	29.0	2,197	63	34.9
16	Beaty Towers to Sugar Hill	172	16.0	10.8	405	32	12.7
20	Reitz Union to Oaks Mall	842	31.9	26.4	2,248	64	35.3
25	UF Commuter Lot to Airport	605	27.4	22.1	1,513	55	27.6
33	Butler Plaza to Midtown	516	32.7	15.8	1,440	65	22.0
35	Reitz Union to SW 35th Place	372	29.7	12.5	1,121	59	18.9
37	Reitz Union to Butler Plaza (via SW 35th Place)	1,113	31.5	35.4	3,022	63	48.0
75	Oaks Mall to Butler Plaza	543	31.1	17.4	1,164	62	18.7
711	Downtown to E. Meadows	758	31.3	24.2	1,714	63	27.4
	City totals	9,103	406	22.4	22,464	812	27.7
F							
Route	Campus	Passengers	Hours	Pass./Hr	FY 2025 Pass.	FY 2025 Hours	FY 2025 Pass./Hr
126	UF East/West Circulator	372	29.2	12.7	1,474	58	25.2
	Campus totals	372	29	12.7	1,474	58	25.2
Route	Other Services	Passengers	Hours	Pass./Hr	FY 2025 Pass.	FY 2025 Hours	FY 2025 Pass./Hr
99	Special Services			-	-	-	-
198-250	Gator Aider			-	-	-	-
	Other Services Totals	-	-		-	-	-
	Systemwide Totals	9,475	435	21.8	23,938	870	27.5

FY'25 NOVEMBER 2024

Ridership Reports

		NOVEMBER 20	24					
	Ridersh	hip by Route and F	arebox Key					
Route	Santa Fe	SF Students	%	SF Staff	%	Monthly TOTAL	Ridership TOTALS	% SF
1	Downtown Station to Butler Plaza	592	99.00%	6	1.00%	598	26,766	2.2%
3	Downtown Station to N Main Post Office	141	97.24%	4	2.76%	145	6,863	2.1%
5	Downtown Station to Oaks Mall	485	98.38%	8	1.62%	493	19,620	2.5%
6	Downtown Station to Plaza Verde	154	99.35%	1	0.65%	155	5,723	2.7%
7	Downtown Station to Eastwood Meadows	127	100.00%	0	0.00%	127	6,923	1.8%
8	Shands to North Walmart Supercenter	435	98.42%	7	1.58%	442	12,317	3.6%
9	Reitz Union to Hunters Run	105	99.06%	1	0.94%	106	17,553	0.6%
10	Downtown Station to Santa Fe	3,700	99.95%	2	0.05%	3,702	10,109	36.6%
11	Downtown Station to Eastwood Meadows	98	100.00%	0	0.00%	98	7,658	1.3%
12	Reitz Union to Butler Plaza	351	97.77%	8	2.23%	359	28,897	1.3%
13	Beaty Towers to CareerSource	222	100.00%	0	0.00%	222	19,444	1.1%
15	Downtown Station to NW 13th St (@ NW 23rd Ave)	305	99.35%	2	0.65%	307	20,332	1.1%
16	Beaty Towers to Sugar Hill	86	96.63%	3	3.37%	89	7,323	1.3%
17	Beaty Towers to Downtown Station	139	95.21%	7	4.79%	146	5,130	2.8%
20	Reitz Union to Oaks Mall	1,641	99.76%	4	0.24%	1,645	36,027	4.6%
20	Reitz Union to Cabana Beach	257	99.61%	1	0.39%	258	12,449	2.1%
21	Oaks Mall to Santa Fe	2,251	99.12%	20	0.88%	2,271	5,497	41.3%
25		88	99.12%	3	3.30%	91		
25	UF Commuter Lot to Airport	141	99.30%	<u> </u>	0.70%		5,759 8,556	1.6%
-	Downtown Station to Airport	26				142		1.7%
28	The Hub to Forest Park		100.00%	0	0.00%	26	4,950	0.5%
33	Butler Plaza to Midtown	666	99.70%	2	0.30%	668	32,933	2.0%
34	The HUB to Lexington Crossing	36	100.00%	0	0.00%	36	3,316	1.1%
35	Reitz Union to SW 35th Place	373	99.73%	I	0.27%	374	27,807	1.3%
37	Reitz Union to Butler Plaza (via SW 35th Place)	273	99.64%	1	0.36%	274	15,296	1.8%
38	The Hub to Gainesville Place	134	72.43%	51	27.57%	185	35,486	0.5%
43	Shands to Santa Fe	1,788	99.72%	5	0.28%	1,793	6,416	27.9%
46	Reitz Union to Downtown Station	14	100.00%	0	0.00%	14	3,315	0.4%
52		68	100.00%	0	0.00%	68	3,537	1.9%
75	Oaks Mall to Butler Plaza	543	97.84%	12	2.16%	555	13,570	4.1%
76	Santa Fe to Haile Square Market	1,758	100.00%	0	0.00%	1,758	2,917	60.3%
78	Butler Plaza to Santa Fe	971	100.00%	0	0.00%	971	1,301	74.6%
118	Park-N-Ride 1 (Cultural Plaza)	5	83.33%	1	16.67%	6	25,867	0.0%
122	UF North/South Circulator	23	100.00%	0	0.00%	23	5,515	0.4%
125	Lakeside	1	100.00%	0	0.00%	1	11,650	0.0%
126	UF East/West Circulator	3	100.00%	0	0.00%	3	2,463	0.1%
127	East Circulator (Sorority Row)	13	100.00%	0	0.00%	13	8,275	0.2%
150	UF Campus - Haile Plantation						1,447	
711	Downtown Station to Eastwood Meadows	58	100.00%	0	0.00%	58	2,658	2.2%
Total		18,071	99.17%	151	0.83%	18,222	471,665	3.86%

		NOVEMBER 2						
	Ridersh	ip by Route and	Farebox Key					
Route	University of Florida	UF Students	%	UF Staff	%	Monthly TOTAL	Ridership TOTALS	% UF
1	Downtown Station to Butler Plaza	11,553	97.68%	274	2.32%	11,827	26,766	44.2%
3	Downtown Station to N Main Post Office	432	97.52%	11	2.48%	443	6,863	6.5%
5	Downtown Station to Oaks Mall	8,356	97.71%	196	2.29%	8,552	19,620	43.6%
6	Downtown Station to Plaza Verde	586	92.72%	46	7.28%	632	5,723	43.0 <i>%</i>
7	Downtown Station to Faza verde	882	98.11%	17	1.89%	899	6,923	13.0%
8	Shands to North Walmart Supercenter	5,489	93.93%	355	6.07%	5,844	12,317	47.4%
9	Reitz Union to Hunters Run	16,863	99.14%	147	0.86%	17,010	17,553	96.9%
	Downtown Station to Santa Fe	1,110	99.02%	147	0.98%	1,121	10,109	11.1%
10	Downtown Station to Santa Fe	323	99.02 %	19	5.56%	342	7,658	4.5%
12	Reitz Union to Butler Plaza	25,083	99.54%	116	0.46%	25,199	28,897	4.5% 87.2%
12	Beaty Towers to CareerSource	15,757	98.20%	289	1.80%	16,046	19,444	82.5%
15	Downtown Station to NW 13th St (@ NW 23rd Ave)	1,712	95.64%	78	4.36%	1,790	20,332	8.8%
16	Beaty Towers to Sugar Hill	3,186	97.79%	70	2.21%	3,258	7,323	44.5%
17	Beaty Towers to Sugar Hill Beaty Towers to Downtown Station	3,010	98.88%	34	1.12%	3,238	5,130	59.3%
20	Reitz Union to Oaks Mall	29,645	98.34%	499	1.66%	30,144	36,027	83.7%
20	Reitz Union to Cabana Beach	10,578	99.22%	83	0.78%	10,661	12,449	85.6%
23	Oaks Mall to Santa Fe	167	91.76%	15	8.24%	182	5,497	3.3%
 25	UF Commuter Lot to Airport	3,187	98.55%	47	1.45%	3,234	5,759	56.2%
25	Downtown Station to Airport	141	90.33%	47	7.24%	152	8,556	1.8%
20	The Hub to Forest Park	4,706	99.26%	35	0.74%	4,741	4,950	95.8%
33	Butler Plaza to Midtown	30,722	99.20 <i>%</i> 99.57%	134	0.74%	30,856	32,933	93.7%
		,			2.09%			
34	The HUB to Lexington Crossing	2,853	97.91% 99.11%	61	0.89%	2,914	3,316	87.9%
35	Reitz Union to SW 35th Place	23,278		210		23,488	27,807	84.5%
37	Reitz Union to Butler Plaza (via SW 35th Place)	12,537	96.87%	405	3.13%	12,942	15,296	84.6%
38	The Hub to Gainesville Place	34,553	99.05%	332	0.95%	34,885	35,486	98.3%
43	Shands to Santa Fe	2,875	96.90%	92	3.10%	2,967	6,416	46.2%
46	Reitz Union to Downtown Station	3,037	99.93%	2	0.07%	3,039	3,315	91.7%
52	Ooko Mall ta Butlar Dis-a	2,832	89.34%	338	10.66%	3,170	3,537	89.6%
75	Oaks Mall to Butler Plaza	863	84.86%	154	15.14%	1,017	13,570	7.5%
76	Santa Fe to Haile Square Market	105	100.00%	0	0.00%	105	2,917	3.6%
78	Butler Plaza to Santa Fe	83	93.26%	6	6.74%	89	1,301	6.8%
118	Park-N-Ride 1 (Cultural Plaza)	25,324	99.71%	73	0.29%	25,397	25,867	98.2%
122	UF North/South Circulator	5,109	94.44%	301	5.56%	5,410	5,515	98.1%
125		11,644	99.99%	1	0.01%	11,645	11,650	100.0%
126	UF East/West Circulator	2,421	99.88%	3	0.12%	2,424	2,463	98.4%
127	East Circulator (Sorority Row)	7,685	99.83%	13	0.17%	7,698	8,275	93.0%
150	UF Campus - Haile Plantation	450	0.00%	1,447	100.00%	1,447	1,447	100.0%
711	Downtown Station to Eastwood Meadows	152	95.00%	8	5.00%	160	2,658	6.0%
Total		308,839	98.11%	5,935	1.89%	314,774	471,665	66.74%

Gainesville-RTS Passenger Ranks Monthly Report (NOVEMBER 2024)							
Route	City	Passengers	Pass./Hr	Rank of Passenger	Productivity		
1	Downtown Station to Butler Plaza	26,766	29	6	11		
3	Downtown Station to N Main Post Office	6,863	23	23	18		
5	Downtown Station to Oaks Mall	19,620	19	9	26		
6	Downtown Station to Plaza Verde	5,723	21	26	24		
7	Downtown Station to Eastwood Meadows	6,923	28	22	13		
8	Shands to North Walmart Supercenter	12,317	19	15	27		
9	Reitz Union to Hunters Run	17,553	26	11	16		
10	Downtown Station to Santa Fe	10,109	22	17	20		
11	Downtown Station to Eastwood Meadows	7,658	30	20	9		
12	Reitz Union to Butler Plaza	28,897	27	4	14		
13	Beaty Towers to CareerSource	19,444	40	10	3		
15	Downtown Station to NW 13th St (@ NW 23rd Ave)	20,332	34	8	8		
16	Beaty Towers to Sugar Hill	7,323	21	21	23		
17	Beaty Towers to Downtown Station	5,130	22	29	21		
20	Reitz Union to Oaks Mall	36,027	35	1	6		
21	Reitz Union to Cabana Beach	12,449	26	14	15		
23	Oaks Mall to Santa Fe	5,497	13	28	34		
25	UF Commuter Lot to Airport	5,759	22	25	22		
26	Downtown Station to Airport	8,556	34	18	7		
28	The Hub to Forest Park	4,950	20	30	25		
33	Butler Plaza to Midtown	32,933	36	3	5		
34	The HUB to Lexington Crossing	3,316	11	32	35		
35	Reitz Union to SW 35th Place	27,807	29	5	12		
37	Reitz Union to Butler Plaza (via SW 35th Place)	15,296	30	12	10		
38	The Hub to Gainesville Place	35,486	42	2	2		
43	Shands to Santa Fe	6,416	14	24	33		
46	Reitz Union to Downtown Station	3,315	22	33	19		
52	UFHealth to Jonesville	3,537	10	31	36		
75	Oaks Mall to Butler Plaza	13,570	17	13	32		
76	Santa Fe to Haile Square Market	2,917	19	34	28		
78	Butler Plaza to Santa Fe	1,301	9	37	37		
118	Park-N-Ride 1 (Cultural Plaza)	25,867	46	7	1		
122	UF North/South Circulator	5,515	19	27	29		
125	Lakeside	11,650	39	16	4		
126	UF East/West Circulator	2,463	18	36	30		
127	East Circulator (Sorority Row)	8,275	25	19	17		
150	UF Campus - Haile Plantation	1,447	6	38	38		
711	Downtown to E. Meadows	2,658	18	35	31		

		/EMBER 2024					
	Ridership by	Route and Farebo	x Key				
Route		under 18 years Old	%	more than 65	%	Monthly TOTAL	Ridership TOTALS
1	Downtown Station to Butler Plaza	1,963	38.43%	3,145	61.57%	5,108	26,766
3	Downtown Station to N Main Post Office	2,132	60.71%	1,380	39.29%	3,512	6,863
5	Downtown Station to Oaks Mall	2,012	52.55%	1,817	47.45%	3,829	19,620
6	Downtown Station to Plaza Verde	910	43.09%	1,202	56.91%	2,112	5,723
7	Downtown Station to Eastwood Meadows	4,054	88.67%	518	11.33%	4,572	6,923
8	Shands to North Walmart Supercenter	1,655	60.36%	1,087	39.64%	2,742	12,317
9	Reitz Union to Hunters Run	111	60.00%	74	40.00%	185	17,553
10	Downtown Station to Santa Fe	2,968	82.44%	632	17.56%	3,600	10,109
11	Downtown Station to Eastwood Meadows	2,803	73.09%	1,032	26.91%	3,835	7,658
12	Reitz Union to Butler Plaza	450	49.34%	462	50.66%	912	28,897
13	Beaty Towers to CareerSource	389	37.05%	661	62.95%	1,050	19,444
15	Downtown Station to NW 13th St (@ NW 23rd Ave)	5,195	67.18%	2,538	32.82%	7,733	20,332
16	Beaty Towers to Sugar Hill	1,224	65.59%	642	34.41%	1,866	7,323
17	Beaty Towers to Downtown Station	194	49.62%	197	50.38%	391	5,130
20	Reitz Union to Oaks Mall	860	63.38%	497	36.62%	1,357	36,027
21	Reitz Union to Cabana Beach	29	40.85%	42	59.15%	71	12,449
23	Oaks Mall to Santa Fe	1,892	93.48%	132	6.52%	2,024	5,497
25	UF Commuter Lot to Airport	147	26.63%	405	73.37%	552	5,759
26	Downtown Station to Airport	1,316	47.12%	1,477	52.88%	2,793	8,556
28	The Hub to Forest Park	51	57.30%	38	42.70%	89	4,950
33	Butler Plaza to Midtown	168	45.78%	199	54.22%	367	32,933
34	The HUB to Lexington Crossing	57	32.76%	117	67.24%	174	3,316
35	Reitz Union to SW 35th Place	547	48.71%	576	51.29%	1,123	27,807
37	Reitz Union to Butler Plaza (via SW 35th Place)	333	57.31%	248	42.69%	581	15,296
38	The Hub to Gainesville Place	90	68.18%	42	31.82%	132	35,486
43	Shands to Santa Fe	230	46.18%	268	53.82%	498	6,416
46	Reitz Union to Downtown Station	36	43.37%	47	56.63%	83	3,315
52		20	26.32%	56	73.68%	76	3,537
75	Oaks Mall to Butler Plaza	3,709	69.17%	1,653	30.83%	5,362	13,570
76	Santa Fe to Haile Square Market	805	94.04%	51	5.96%	856	2,917
78	Butler Plaza to Santa Fe	71	73.20%	26	26.80%	97	1,301
118	Park-N-Ride 1 (Cultural Plaza)	9	100.00%	0	0.00%	9	25,867
122	UF North/South Circulator	17	73.91%	6	26.09%	23	5,515
125	Lakeside	3	100.00%	0	0.00%	3	11,650
126	UF East/West Circulator	0	0.00%	11	100.00%	11	2,463
127	East Circulator (Sorority Row)	50	32.68%	103	67.32%	153	8,275
150	UF Campus - Haile Plantation						
711	Downtown Station to Eastwood Meadows	880	70.51%	368	29.49%	1,248	2,658
Total		37,380	63.22%	21,749	36.78%	59,129	470,218